Example

A single straight brass fin with rectangular cross-section is 5 cm long.
The temperature at the base of the fin is 60°C and the surrounding h= lo w/nK
ambient air is 30°C . The brass conducts heat at 110 W/mK and the

convective heat transfer coefficient is 10 W/m2K. k= ho wlak

Treating the fin with an adiabatic tip of corrected length, determine:

A = wt = (lelﬂ'z"‘)(l""-J")

a) The rate of heat transfer from the fin. -
b) Thermal resistance of the fin. 2w L[]
c) Efficiency of the single fin p
d) Effectiveness of the single fin P = 2(wtt) = 0.202[]
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